
S-1 

 

Mild and Efficient Nickel-Catalyzed Heck Reactions 

with Electron-Rich Olefins 

Thomas M. Gøgsig, Jonatan Kleimark, Sten O. Nilsson Lill, Signe Korsager, Anders T. Lindhardt, 

Per-Ola Norrby* and  Troels Skrydstrup* 

 

The Center for Insoluble Protein Structures (inSPIN), Department of Chemistry and the 

Interdisciplinary Nanoscience Center, Aarhus University, Langelandsgade 140, 

8000 Aarhus, Denmark and University of Gothenburg, Department of Chemistry, Kemigården 4, 

#8076, SE-412 96 Göteborg, Sweden. 

 

pon@chem.gu.se; ts@chem.au.dk 

 

Supporting Information 

 

Table of Contents  S-1 

 

General Methods  S-2 

 

Experimental Details  S-2 

 

NMR Spectra  S-12 

 

 

mailto:ts@chem.au.dk


S-2 

 

General Methods 

All reactions were carried out in 7.0 mL sample vials with a teflon sealed screwcap in a glovebox 

under an argon atmosphere. All purchased chemicals were used as received without further 

purification. Solvents were dried according to standard procedures, reactions were monitored by 

thin-layer chromatography (TLC) analysis and flash chromatography was carried out on silica gel 

60 (230-400 mesh). The chemical shifts are reported in ppm relative to solvent residual peak.
1
 The 

1
H NMR spectra were recorded at 400 MHz, 

13
C NMR spectra were recorded at 100 MHz and 

19
F 

NMR spectra were recorded at 376 MHz on a Varian Mercury 400 spectrometer. MS spectra were 

recorded on a LC TOF (ES) apparatus. The aryl triflates were synthesized according to known 

procedures.
2
 The aryl sulfonates depicted in Table 3 were prepared using known procedures.

3
 

 

General Procedure for the Ni(0)-Catalyzed Heck Reaction 

Aryl sulfonate (1.0 equiv), DPPF (0.05 equiv) and Cy2NMe (3.0 equiv) were dissolved in dioxane 

(3.0 mL). Vinyl ether (4.0 equiv) and Ni(COD)2 (0.05 equiv) were then added and the sample vial 

was fitted with a Teflon sealed screwcap and removed from the glovebox. The reaction mixture was 

stirred at 100 °C for 20 h. Hydrolysis was performed adding 6 M HCl (3.0 mL) to the reaction 

mixture and stirred at room temperature for 1 h. Diethyl ether was added and the crude reaction 

mixture was washed twice with water and once with brine, dried over anhydrous MgSO4 and 

filtrated. Upon concentration in vacuo the crude product was purified by colomn chromotography. 

 
4-Acetylbiphenyl (Table 1).4 

Flash chromatography using pentane:CH2Cl2 1:1 as eluent resulted in 26.4 mg 

(90% yield) of the title product obtained as a colorless solid.
 1
H NMR (400 MHz, 

CDCl3) δ (ppm) 8.04 (d, 2H, J = 8.6 Hz), 7.69 (d, 2H, J = 8.6 Hz), 7.63 (d, 2H, J = 

7.1 Hz), 7.48 (t, 2H, J = 7.1 Hz), 7.41 (t, 1H, J = 7.1 Hz), 2.64 (s, 3H).
 13

C NMR (100 MHz, CDCl3) 



S-3 

 

δ (ppm) 197.8, 145.9, 140.0, 136.0, 129.1, 129.0, 128.3, 127.4, 127.3, 26.8. HRMS C14H12O 

[M+Na
+
]; calculated 219.0786, found 219.0782. 

4-Acetylbiphenyl (Table 4, entry 1). 

Flash chromatography using pentane:CH2Cl2 1:1 as eluent resulted in 89.0 mg 

(91% yield) of the title product obtained as a colorless solid.  

 

2-Acetonaphthone (Table 2, entry 1).5 

Flash chromatography using pentane:CH2Cl2 1:1 ―> CH2Cl2 as eluent resulted in 

77.3 mg (91% yield) of the title product obtained as a colorless solid.
 1

H NMR (400 

MHz, CDCl3) δ (ppm) 8.47 (bs, 1H), 8.04 (dd, 1H, J = 1.8, 8.6 Hz), 7.97(d, 1H, J = 8.0 Hz), 7.90-

7.87 (m, 2H), 7.62-7.55 (m, 2H), 2.73 (s, 3H). 
13

C NMR (100 MHz, CDCl3) δ (ppm) 198.2, 135.7, 

134.6, 132.6, 130.3, 129.7, 128.6, 128.5, 127.9, 126.9, 124.0, 26.8. HRMS C12H10O [M+Na
+
]; 

calculated 193.0629, found 193.0623. 

 

2-Acetonaphthone (Table 3, entry 5). 

Flash chromatography using pentane:CH2Cl2 1:1 ―> CH2Cl2 as eluent resulted in 

77.5 mg (91% yield) of the title product obtained as a colorless solid. 

 

2-Acetonaphthone (Table 2, entry 2).6 

Flash chromatography using pentane:CH2Cl2 1:1 ―> CH2Cl2 as eluent resulted in 82.2 

mg (97% yield) of the title product obtained as a colorless oil.
 1

H NMR (400 MHz, 

CDCl3) δ (ppm) 8.78 (d, 1H, J = 8.6 Hz), 7.98 (d, 1H, J = 8.2 Hz), 7.92 (d, 1H, J = 7.2 Hz), 7.87 (d, 

1H, J = 8.1 Hz), 7.63-7.59 (m, 1H), 7.55-7.46 (m, 2H), 2.74 (s, 3H).
 13

C NMR (100 MHz, CDCl3) δ 



S-4 

 

(ppm) 201.8, 135.5, 134.0, 133.1, 130.2, 128.8, 128.5, 128.1, 126.5, 126.1, 124.4, 30.0. GCMS 

C12H10O [M]; calculated 170, found 170. 

 

2-Acetylbiphenyl (Table 2, entry 3).7 

 Flash chromatography using pentane:CH2Cl2 1:1 ―> CH2Cl2 as eluent resulted in 

86.4 mg (88% yield) of the title product obtained as a colorless oil. 
1
H NMR (400 

MHz, CDCl3) δ (ppm) 7.56 (dd, 1H, J = 1.2, 7.5 Hz), 7.51 (dt, 1H, J = 1.4, 7.5 Hz), 

7.45-7.34 (m, 7H), 2.01 (s, 3H). 
13

C NMR (100 MHz, CDCl3) δ (ppm) 204.8, 140.9, 140.8, 140.5, 

130.8, 130.3, 128.9, 128.7, 127.9, 127.9, 127.5, 30.5. HRMS C14H12O [M+Na
+
]; calculated 

219.0786, found 219.0783. 

 

Ethyl 4-acetylbenzoate (Table 2, entry 4).8 

Flash chromatography using pentane:ethyl acetate 10:1 as eluent resulted in 76.5 

mg (79% yield) of the title compound as a colorless solid. 
1
H NMR (400 MHz, 

CDCl3) δ (ppm) 8.08 (dd, 2H, J = 1.6, 8.3 Hz), 7.96 (dd, 2H, J = 1.99, 8.60 Hz), 

4.37 (q, 2H, J = 7.2 Hz), 2.61 (s, 3H), 1.39 (t, 3H, J = 7.2 Hz). 
13

C NMR (100 MHz, CDCl3) δ 

(ppm) 197.7, 165.9, 140.4, 134.5, 130.0, 128.4, 61.6, 27.0, 14.5. HRMS C11H12O3 [M+Na
+
]; 

calculated 215.0684, found 215.0691. 

 

4-Acetyl-N-(tert-butyl)benzamide (Table 2, entry 5).9  

Flash chromatography using CH2Cl2:ether 10:1 as eluent resulted in 98.1 mg 

(90% yield) of the title compound as a colorless solid. 
1
H NMR (400 MHz, 

CDCl3) δ (ppm) 7.87 (dd, 2H, J = 1.9, 8.6 Hz), 7.75 (dd, 2H, J = 1.9, 8.6 Hz), 



S-5 

 

2.52 (s, 3H), 1.42 (s, 9H). 
13

C NMR (100 MHz, CDCl3) δ (ppm) 197.7, 116.2, 140.0, 138.9, 128.5, 

127.3, 52.1, 28.9, 26.9. HRMS C13H17NO2 [M+Na
+
]; calculated 242.1157, found 242.1157. 

 

4’-Methoxyacetophenone (Table 2, entry 6).10  

Flash chromatography using CH2Cl2 as eluent resulted in 69.8 mg (93% yield) as a 

colorless solid. 
1
H NMR (400 MHz, CDCl3) δ (ppm) 7.94 (d, 2H, J = 9.2 Hz), 6.93 

(d, 2H, J = 9.2 Hz,), 3.87 (s, 3H), 2.55 (s, 3H). 
13

C NMR (100 MHz, CDCl3) δ (ppm) 196.9, 163.7, 

130.7, 130.5, 113.9, 55.6, 26.5. HRMS C9H10O2 [M+Na
+
]; calculated 173.0578, found 173.0577. 

 

N-(4-Acetylphenyl)acetamide (Table 2, entry 7).11  

Flash chromatography using CH2Cl2:ethyl acetate 5:1 as eluent resulted in 46 mg 

(56% yield) of the title compound obtained as a colorless solid. 
1
H NMR (400 

MHz, CDCl3) δ (ppm) 7.97 (bs, 1H), 7.92 (d, 2H, J = 8.5 Hz), 7.63 (d, 2H, J = 8.5 Hz), 2.57 (s, 3H), 

2.21 (s, 3H). 
13

C NMR (100 MHz, CDCl3) δ (ppm) 197.3, 169.1, 142.7, 130.0, 129.4, 119.1, 26.7, 

24.9. HRMS C10H11NO2 [M+Na
+
]; calculated 200.0687, found 200.0687. 

 

4-Acetylphenyl pivalate (Table 2, entry 8).  

Flash chromatography using ethyl acetate:pentane 1:20 resulted in 91.3 mg 

(83% yield) of the title compound as a colorless solid. 
1
H NMR (400 MHz, 

CDCl3) δ (ppm) 7.99 (dd, 2H, J = 2.6, 9.5 Hz,), 7.16 (dd, 2H, J = 2.6, 9.5 Hz), 2.60 (s, 3H), 1.37 (s, 

9H). 
13

C NMR (100 MHz, CDCl3) δ (ppm) 197.1, 176.7, 155.1, 134.8, 130.1, 121.9, 39.4, 27.3, 

26.8. HRMS C13H16O3 [M+H
+
]; calculated 221.1178, found 221.1179. 

 

 



S-6 

 

3',4'-(Methylenedioxy)acetophenone (Table 2, entry 9).6 

Flash chromatography using CH2Cl2 as eluent resulted in 62.9 mg (77% yield) of the 

desired product obtained as a colorless solid. 
1
H NMR (400 MHz, CDCl3) δ (ppm) 

7.53 (d, 1H, J = 8.1 Hz), 7.41 (s, 1H), 6.83 (d, 1H, J = 8.1 Hz), 6.02 (s, 2H), 2.52 (s, 3H). 
13

C NMR 

(100 MHz, CDCl3) δ (ppm) 196.2, 151.9, 148.3, 132.2, 124.8, 108.0, 107.9, 101.9, 26.5. HRMS 

C9H8O3 [M+Na
+
]; calculated 187.0371, found 187.0375. 

 

3'-Trifluoromethylacetophenone (Table 2, entry 10).12 

Flash chromatography using pentane:CH2Cl2 3:2 as eluent resulted in 75.8 mg (81% 

yield) of the title product obtained as a colorless oil. 
1
H NMR (400 MHz, CDCl3) δ 

(ppm) 8.21 (s, 1H), 8.14 (d, 1H, J = 7.8 Hz), 7.49 (d, 1H, J = 7.8), 7.62 (t, 1H, J = 7.8 

Hz), 2.65 (s, 3H). 
13

C NMR (100 MHz, CDCl3) δ (ppm) 196.7, 137.7, 131.6, 131.3, 129.7, 129.4, 

125.2, 123.8 (q, J = 270.5 Hz), 26.7. 
19

F NMR (376 MHz, CDCl3) δ (ppm) -63.3. GCMS C9H7F3O 

[M]; calculated 118, found 118. 

 

4-Acetylbenzonitrile (Table, 2, entry 11). 6 

Flash chromatography using pentane:diethyl ether 2:1 as eluent resulted in 56.7 mg 

(78% yield) of the title product obtained as a colorless solid.
 1
H NMR (400 MHz, 

CDCl3) δ (ppm) 8.02 (d, 2H, J = 8.6 Hz), 7.75 (d, 2H, J = 8.6 Hz), 2.62 (s, 3H). 
13

C NMR (100 

MHz, CDCl3) δ (ppm) 196.6, 140.0, 132.6, 128.7, 118.0, 116.4, 26.8.  

 

4’-Fluoroacetophenone (Table 2, entry 12). 6 

Flash chromatography using CH2Cl2:pentane: ethyl acetate 1:20:1 resulted in 53.8 mg 

(78 % yield) of the title compound as a colorless oil. 
1
H NMR (400 MHz, CDCl3) δ 



S-7 

 

(ppm) 8.01-7.96 (m, 2H), 7.16-7.10 (m, 2H), 2.52 (s, 3H). 
13

C NMR (100 MHz, CDCl3) δ (ppm) 

196.4, 165.7 (d, J = 254.4 Hz), 133.9 (d, J = 3.1 Hz), 130.9 (d, J = 9.1 Hz), 115.3 (d, J = 22.3 Hz), 

26.5. 
19

F NMR (376 MHz, CDCl3) δ (ppm) -105.4. HRMS C8H7FO [M+H
+
]; calculated 139.0559, 

found 139.0552. 

 

(E)-1-(4-((2-Methoxyphenyl)diazenyl)phenyl)ethanone (Table 2, entry 13).  

Flash chromatography using ethyl acetate:pentane 1:3 as eluent resulted in 

95.4 mg (75% yield) of the title product obtained as a red solid. 
1
H NMR (400 

MHz, CDCl3) δ (ppm) 8.08 (d, 2H, J = 8.9 Hz), 7.94 (d, 2H, J = 8.1 Hz) 7.69 

(dd, 1H, J = 1.8, 8.9 Hz), 7.47 (ddd, 1H, J = 1.8, 7.3, 8.9 Hz), 7.10 (dd, 1H, J = 0.5, 8. 9 Hz), 7.02 

(dd, 1H, J = 0.5, 7.98 Hz), 4.02 (s, 3H), 2.63 (s, 3H). 
13

C NMR (100 MHz, CDCl3) δ (ppm) 197.8, 

157.7, 155.8, 142.4, 138.3, 133.7, 129.6, 123.2, 121.0, 117.1, 118.1, 56.5, 27.1; HRMS C15H14N2O2 

[M+Na
+
]; calculated 277.0953, found 277.0955. 

 

2-Acetylcarbazole (Table 2, entry 14).13 

Flash chromatography using ether:CH2Cl2 1:100 as eluent resulted in 80 mg (76% 

yield) of the title compound as a colorless solid. 
1
H NMR (400 MHz, DMSO) δ 

(ppm) 11.54 (bs, 1H), 8.20 (d, 1H, J = 8.1 Hz), 8.17 (d, 1H, J = 8.6 Hz), 8.09 (d, 

1H, J = 1.2 Hz), 7.77 (dd, 1H, J = 1.2, 8.1 Hz), 7.55 (d, 1H, J = 8.1 Hz), 7.46 (dd, 1H, J = 7.6, 8.1 

Hz), 7.19 (dd, 1H, J = 7.6, 8.6 Hz), 2.66 (s, 3H). 
13

C NMR (100 MHz, DMSO) δ (ppm) 197.8, 

141.3, 139.2, 134.1, 127.0, 126.1, 121.6, 121.1, 120.0, 119.1, 118.7, 111.4, 111.3, 26.9.  HRMS 

C14H11NO [M+Na
+
]; calculated 232.0738, found 232.0735. 

 

 



S-8 

 

(E/Z)-1-(2-Methoxy-4-(prop-1-en-1-yl)phenyl)ethanone (Table 2, entry 15).  

Flash chromatography using pentane:CH2Cl2: ether 12:3:1 as eluent resulted in 

91.9 mg (97% yield) of the title compound as a colorless solid.  

Major isomer (E): 
1
H NMR (400 MHz, C6D6) δ (ppm) inter alia 8.02 (d, 1H, J = 8.0 Hz), 6.79 (d, 

1H, J = 8.0 Hz), 6.50 (s, 1H), 6.13 (dd, 1H, J = 1.4, 15.8 Hz) 6.03-5.93 (m, 1H), 3.14 (s, 3H), 2.49 

(s, 3H), 1.60 (dd, 3H, J = 1.4, 6.5 Hz).  

Minor isomer (Z): 
1
H NMR (400 MHz, C6D6) δ (ppm) inter alia 8.0 (d, 1H, J = 8.0 Hz,), 6.77 (d, 

1H, J =  8.0 Hz), 6.50 (s, 1H), 6.26 (dd, 1H, J = 1.8, 11.6 Hz) 5.62 (dq, 1H, J = 7.1, 11.6 Hz), 3.10 

(s, 3H), 2.48 (s, 3H), 1.78 (dd, 3H,  J = 1.8, 7.1 Hz).  

Both Isomers: 
13

C NMR (100 MHz, C6D6) δ (ppm) 196.8, 159.5, 159.1, 143.4, 143.1, 131.2, 130.8, 

129.6 (2C), 121.3, 118.2, 112.1, 109.2, 54.7, 31.8, 18.4, 14.6. HRMS C12H14O2 [M+Na
+
] calculated 

213.0891, found 213.0889. 

 

(E/Z)-1-(2-Methoxy-4-(prop-1-en-1-yl)phenyl)ethanone (Table 2, entry 16). 

Flash chromatography using CH2Cl2 as eluent resulted in 87.4 mg (92% yield) of 

the title compound as a colorless solid.  

 (Z)-Isomer: 
1
H NMR (400 MHz, C6D6) δ (ppm) inter alia 7.99 (d, 1H, J = 7.5 Hz,), 6.26 (dd, 1H, 

J = 1.8, 11.6 Hz), 5.62 (dq, 1H, J = 7.2, 11.6 Hz), 3.11 (s, 3H), 2.48 (s, 3H), 1.62 (dd, 3H, J = 1.8, 

7.2 Hz).  

(E)-Isomer: 
1
H NMR (400 MHz, C6D6) δ (ppm) inter alia 8.02 (d, 1H, J = 7.5 Hz), 6.13 (dd, 1H, J 

= 1.2, 15.7 Hz), 5.99 (dq, 1H, J = 6.5, 15.7 Hz), 3.16 (s, 3H), 2.48 (s, 3H), 1.60 (dd, 3H, J = 1.2, 

6.5). 



S-9 

 

Allyl-Isomer: 
1
H NMR (400 MHz, C6D6) δ (ppm) inter alia 7.96 (d, 1H, J = 7.9 Hz), 6.57 (d, 1H, J 

= 7.9), 6.39 (s, 1H), 5.80-5.69 (m, 1H), 4.50-4.90 (m, 2H), 3.13 (s, 3H), 3.06 (d, 2H, J = 6.6 Hz), 

2.47 (s, 3H). 

All Isomers: 
13

C NMR (100 MHz, C6D6) δ (ppm) 197.0, 196.8, 159.5, 159.3, 159.1, 146.2, 143.4, 

143.1, 136.6, 132.6, 131.2, 131.0, 130.9, 130.7, 129.6, 128.6, 126.9, 126.7, 121.3, 121.1, 118.2, 

116.2, 112.1, 111.8, 109.2, 54.7, 40.3, 31.8, 31.7, 18.4, 14.6. 

 

7-Acetyl-2H-chromen-2-one (Table 2, entry 17).  

Flash chromatography using diethyl ether:pentane:CH2Cl2 2:2:1 as eluent resulted 

in 73.0 mg (78% yield) of the title product obtained as a colorless solid. 
1
H NMR 

(400 MHz, CDCl3) δ (ppm) 7.82-7.79 (m, 2H), 7.73 (d, 1H, J = 9.5 Hz), 7.56 (d, 1H, J = 7.9 Hz), 

6.48 (d, 1H, J = 9.5 Hz), 2.61 (s, 3H). 
13

C NMR (100 MHz, CDCl3) δ (ppm) 196.5, 160.1, 153.9, 

142.5, 139.3, 128.3, 122.2, 118.9, 116.7, 26.9. HRMS C11H18O3 [M+Na
+
]; calculated 211.0371, 

found 211.0366. 

 

4-Acetyl-2-methylquinoline (Table 2, entry 18). 

Flash chromatography using diethyl ether:CH2Cl2 1:20 as eluent followed by 

recrystallization from CH2Cl2 and pentane at -18 °C resulted in 51.7 mg (56% yield) of 

the title product obtained as a colorless solid. 
1
H NMR (400 MHz, CDCl3) δ (ppm) 8.33 (dd, 1H, J 

= 0.8, 8.5 Hz), 8.02 (dd, 1H, J = 0.7, 8.5 Hz), 7.70-7.66 (m, 1H), 7.54-7.50 (m, 1H), 7.44 (s, 1H), 

2.76 (s, 3H), 2.68 (s, 3H).
 13

C NMR (100 MHz, CDCl3) δ (ppm) 201.5, 158.5, 148.9, 143.1, 129.9, 

129.2, 127.4, 125.3, 122.0, 120.8, 30.1, 25.4. GCMS C12H11NO [M]; calculated 185, found 185. 

 

 



S-10 

 

4-Acetyl-1,2-dihydronaphthalene (Table 2, Entry 19). 

 Flash chromatography using pentane:CH2Cl2 1:1 ―> CH2Cl2 as eluent resulted in 57.9 

mg (67% yield) of the title product obtained as a pale yellow oil. 
1
H NMR (400 MHz, 

CDCl3) δ (ppm) 7.70 (d, 1H, J = 7.8 Hz), 7.25-7.15 (m, 3H), 7.01 (t, 1H, J = 4.9 Hz), 2.75 (t, 2H, J 

= 7.8 Hz), 2.47-2.41 (m, 5H). 
13

C NMR (100 MHz, CDCl3) δ (ppm) 199.5, 139.3, 139.3, 136.6, 

130.9, 127.8, 127.7, 126.7, 126.6, 28.0, 27.6, 23.8. GCMS C12H12O [M]; calculated 172, found 172. 

 

Computational details 

All DFT calculations were carried out using the Jaguar program,
14

 with the B3LYP hybrid 

functional
15

 and the LACVP* basis set.
16

 Complexes were optimized in vacuo and subjected to 

vibrational analysis to validate the nature of the stationary point as ground states or transition states, 

respectively. Solution phase energies were obtained by single-point calculations on the gas phase 

structure. The singlet-triplet gap for the investigated Ni complexes was examined by continually 

running single point energy calculations on the optimized singlet structures. In all cases, the triplet 

was found to be higher in energy. 

The solvent was modeled by Jaguar’s Poisson-Boltzmann method
17

 with parameters describing 

THF (ε = 7.6, probe radius = 2.52 Å) which is a competent solvent for the title reaction, and 

computationally more feasible than the experimentally preferred dioxane. The solution phase Gibbs 

free energy was estimated by adding the gas phase vibrational contribution to the single-point 

solution phase energy. A dispersion correction term was calculated and added to give the total 

energy.
18

 All transition states were refined by eigenmode following and verified by the presence of 

only one imaginary frequence. Visual inspection backed up that the eigenvector corresponded well 

to the formation of the correct bond or torsional rotation and QRC calculations were used to 

confirm this.
19

 



S-11 

 

 

                                                
1 Gottlieb, H. E.; Kotlyar, V.; Nudelman, A. J. Org. Chem. 1997, 62, 7512. 

2 Seganish, W. M.; DeShong, P. J. Org. Chem. 2004, 69, 1137. 

3 Kubota, Y.; Nakada, S.; Sugi, Y. Synlett 1998, 183. 

4 Inamoto, K.; Kuroda, J.; Kwon, E.; Hiroya, K.; Doi, T. J. Organomet. Chem. 2009, 694, 389.   

5 Wang, X.; Wang, D. Z. Tetrahedron 2011, 67, 3406. 

6 Ruan, J.; Iggo, J. A.; Berry, N. G.; Xiao, J. J. Am. Chem. Soc. 2010, 132, 16689. 

7 Portela-Cubillo, F.; Lymer, J.; Scanlan, E. M.; Scott, J. S.; Walton, J. C. Tetrahedron 2008, 64, 11908. 

8 Shang, R.; Fu, Y.; Li, J.–B.; Zhang, S.–L.; Guo, Q. –X.; Liu, L. J. Am. Chem. Soc. 2009, 131, 5738.  

9 Baum, J. C.; Milne, J. E.; Murry, J. A.; Thiel, O. R. J. Org. Chem. 2009, 74, 2207. 

10 Arisawa, M.; Suwa, K.; Yamaguchi, M. Org. Lett. 2009, 11, 625. 

11 Park, C.-H.; Givens, R. S. J. Am. Chem. Soc. 1997, 119, 2453 

12 Senecal, T. D.; Parsons, A. T.; Buchwald, S. L. J. Org. Chem. 2011, 76, 1174. 

13 Freeman, A. W.; Urvoy, M.; Criswell, M. E. J. Org. Chem. 2005, 70, 5014. 

14 Jaguar v. 7.7 by  Schrodinger LLC, New York, NY, 2010. For documentation and current version of the program, 

see www.schrodinger.com. 

15 Becke, A. D. Phys. Rev. A. 1988, 38, 3098. 

16 LACVP basis sets use 6-31G for main group elements and the Hay-Wadt ECP for Ni: Hay, P. J.; Wadt, W. R. J. 

Chem. Phys. 1985, 82, 299. 

17 Marten, B.; Kim, K.; Cortis, C.; Friesner, R. A.; Murphy, R. B.; Ringnalda, M. N.; Sitkoff, D.; Honig, B. J. Phys. 

Chem-Us 1996, 100, 11775. 

18
 Grimme, S.; Antony, J.; Ehrlich, S.; Krieg, H. J. Chem. Phys. 2010, 132, -. 

19 Goodman, J. M.; Silva, M. A. Tetrahedron Letters 2003, 44, 8233. 

 

 

 



S-12 

 

 

 
 

 

 

 

 

 

 

 

 

 

 

 
 

 

 

 

 



S-13 

 

 

 

 
 

 

 

 

 

 

 

 

 

 
 

 

 

 

 

 



S-14 

 

 

 
 

 

 

 

 

 

 

 

 
 

 

 

 

 

 

 

 

 



S-15 

 

 

 

 
 

 

 

 

 

 

 

 

 

 
 

 

 

 

 

 

 



S-16 

 

 

 

 

 
 

 

 

 

 

 

 

 
 

 

 

 

 

 

 

 



S-17 

 

 

 

 

 

 
 

 

 

 

 

 

 

 

 

 
 

 

 

 

 



S-18 

 

 

 

 

 
 

 

 

 

 

 

 

 

 

 
 

 

 

 

 

 

 



S-19 

 

 

 

 

 

 

 

 
 

 

 

 

 

 

 

 

 
 

 

 

 

 



S-20 

 

 

 

 

 

 

 

 
 

 

 

 

 

 

 
 

 

 

 

 

 

 



S-21 

 

 

 

 

 

 

 
 

 

 

 

 

 

 

 

 
 

 

 

 

 



S-22 

 

 
 

 

 

 

 

 

 

 

 
 

 

 

 

 

 

 

 

 



S-23 

 

 

 

 

 

 

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



S-24 

 

 
 

 

 

 

 

 

 

 

 

 
 

 

 

 

 

 

 



S-25 

 

 

 

 
 

 

 

 

 

 
 

 

 

 

 

 

 

 

 

 

 



S-26 

 

 

 

 

 

 

 

 
 

 

 

 

 

 

 

 

 

 

 

 
 

 



S-27 

 

 

 

 

 

 

 

 
 

 

 

 

 

 

 

 

 
 

 

 

 



S-28 

 

 

 

 

 

 
 

 

 

 

 

 

 

 
 

 

 

 

 

 

 

 



S-29 

 

 

 

 

 
 

 

 

 

 

 

 

 

 

 

 

 
 

 

 

 



S-30 

 

 

 

 

 

 
 

 

 

 

 

 
 

 

 

 

 

 

 

 

 



S-31 

 

 

 

 

 
 

 

 

 

 

 

 

 

 

 
 

 

 

 

 

 



S-32 

 

 

 

 

 
 

 

 

 

 

 

 


